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Exercise 2 (maximum points: 10)
Total Project Time (TPT) = ……………… days 
Exercise 3 (maximum points: 5)

Current schedule performance index (SPI) 
= ………………
Total current estimated time slip 
= ………………
Planned time to complete 
= ………………
Current estimated time to complete (ETC) 
= ………………
Current estimated Total Project Time (TPT)  
= ………………
Exercise 1: Multiple Choice (only one answer is correct)
	1. 
	What is the strategic role of projects?
a) They are routine activities providing stability for the organization.

b) Projects help the organization to adapt to the environmental changes.

c) Projects provide important input for the strategy making process.

d) Through projects uncertainty can be changed into manageable risk.

	2. 
	If one or more activity overruns and the responsible project worker is identified… 
a) the GANTT chart and the PNT should be modified (durations, deadlines should be revisited).
b) removing that person form the given work package is always the best choice.
c) impeachment should be clear and fast to protect the project deadlines and quality.

d) try to avoid recrimination (‘past is dead’).

	3. 
	The project cycle phases in the right order:
a) Conception, realization, development, termination

b) Market introduction, growth, maturity, decline

c) Market introduction, growth, maturity, saturation

d) Definition, planning, implementation, closing

	4. 
	Moving a risk to someone (or some other unit or organisation) who is more capable of dealing with the problem is … .
a) risk avoidance
b) risk deferral
c) risk transfer
d) risk reallocation

	5. 
	A …….. schedule variance with …….. cost variance suggests a project is in time and there is no overspending.

a) negative; zero
b) positive; positive
c) negative; negative
d) zero; zero

	6. 
	An important knowledge management task during project termination:
a) Train the project members for the project activities.

b) Draw a lesson form the project and share the experiences with other members of the firm.

c) Support data for the project management team with forecasting.

d) Gathering information with the help of the procurement managers.

	7. 
	One of the following is a typical disadvantage of projects existing in linear-functional organisations:
a) Tight control at the top

b) Simple reporting relations

c) Parochialism of key personnel

d) It is hard to ensure the common view and acceptation of the organisational goals and objectives

	8. 
	The communication between project managers and the CEO is the best in organisations with ….
a) true project structure

b) matrix structure

c) hierarchical functional structure

d) divisional structure


	9. 
	… provides a framework for the … .
a) strategy; tactical plans

b) tactics; strategy

c) true project structure; matrix structure
d) vision; mission statement

	10. 
	…. is the cost of sacrificing a different course of action to that which is currently planned to be taken.
a) Transactional cost

b) Opportunity cost

c) Controlling cost

d) Risk

	11. 
	By form, the Gozinto chart is very similar to a
a) Gantt chart

b) WBS diagram

c) Ishikawa diagram

d) bar chart


	12. 
	The greatest advantage of … is the ability to clearly show the logic of the project elements.
a) SOW
b) WBS

c) PNT

d) Objective tree

	13. 
	The cost of reducing activity durations by omitting testing and checking tasks is… 
a) … the increased risk of failure.

b) …transaction cost.

c) …opportunity cost.

d) …examination cost.

	14. 
	Involving all personnel in achieving quality is a part of …
a) maximizing the satisfaction of customer and interested parties.

b) creating an environment for quality and reliability.

c) both a) and b).
d) the ’ancillary’ activities.

	15. 
	Stability of suppliers should be investigated by the procurement executive to control…
a) risk from finance.

b) risk from timing.

c) risk from people.

d) revenues.


Calculation & plotting exercises (in the mid-term there will be 2 exercises) (max. points: 15)
Exercise 2
Given the following data, plot a Gantt chart for the full project with the minimum possible Total Project Time, and calculate the TPT. The final version of the Gantt should be plotted on the answer sheet. 
Availability of workers: 1 or 2 (names are XX and YY)
Normal duration of activities (there are 6): A (2 day), B (2 days), C (4 days), D (4 days), E (2 day), F (2 days)

Which activities are faster with two workers? A, B, C (the activity time can be halved in these cases)
There are a possibility to create overlaping in the case of the following activities (they can be started 1 day before their predecessor activity ends): D, F
Between the following activities there is no precedence relationship: D and E
Exercise 3
There is a project with a planned Total Project Time (TPT) of 15 days. There are 5 non-overlapping work packages with durations 1 (activity a), 3 (b), 4 (c), 6 (d) and 1 (e) days. After 7 days the first work package is completed, two thirds of the second and 50% of the c work package is also done, but nothing else. Calculate the
· current schedule performance index (SPI)

· total current estimated time slip 

· planned time to complete

· current estimated time to complete (ETC)

· current estimated Total Project Time (TPT)
Answer Sheet
Total Points: 30 (15 multiple choice + 15 calculation)
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Exercise 2 
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TPT = ……… days

Exercise 3 
Current schedule performance index (SPI) 
= 
Total current estimated time slip 
= 
Planned time to complete 
= 
Current estimated time to complete (ETC) 
= 
Current estimated Total Project Time (TPT)  
= 
